13.5
(a)



[image: image1.emf]Scatter Diagram

0

50

100

150

200

250

300

350

400

450

0 100 200 300 400 500 600 700

X, Reported (thousands)

Y, Audited (thousands)



(b)
For each additional thousand units increase in reported newsstand sales, the mean audited sales will increase by an estimated 0.5719 thousand units.
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(a) 
r2 = 0.9015. So, 90.15% of the variation in audited newsstand sales can be explained by the variation in reported newsstand sales.
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(c)
Based on (a) and (b), the model should be very useful for predicting audited sales.
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Based on the residual plot, there does not appear to be a pattern in the residual plot.
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[image: image5.emf]Normal Probability Plot
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Based on the residual plot, there appears to be some heteroscedasticity effect. The normal probability plot of the residuals indicates a departure from the normality assumption.  The error distribution appears to be left-skewed.
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PHStat output:

	
	Coefficients
	Standard Error
	t Stat
	P-value
	Lower 95%
	Upper 95%

	Intercept
	26.7240
	26.5425
	1.0068
	0.3435
	-34.4832
	87.9311

	Reported
	0.5719
	0.0668
	8.5567
	0.0000
	0.4178
	0.7260




Since the p-value is essentially zero, reject H0 at 5% level of significance.  There is evidence of a linear relationship between reported sales and audited sales. 
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(c)
Part (b) provides an interval prediction for the individual response given a specific value of the independent variable, and part (a) provides an interval estimate for the mean value given a specific value of the independent variable.  Since there is much more variation in predicting an individual value than in estimating a mean value, a prediction interval is wider than a confidence interval estimate holding everything else fixed.
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